Clear opening height

7
s/
\\\
/
s/
\\\
s/
\\\
s/
/
s/
\\\
s/
v
_4—
£~
(w)}
eF]
£~
o
c
[
(eF]
[(mN
o
—
n
eF]
—
o
/ / / / / / / / / / / / /
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ S S S
s 7SS 7SS 7SS, 7SS, 7S 7SS 7SS, 7SS, 7S s S SSSLS s SSS s S

!

A

Clear opening width.

!

A

**x JDRAWING T #**
Curtains opening dimension check




130

30

115

Clear opening’'s height

130

Clear opening's width

A

Clear opening’s width

!

130

Clear opening’s width + 60mm

\

!

* Kk Kk

Drawing no.2 **#*




Clear opening’'s height

A

Clear opening's width

Clear opening’s width

!

s
\\ \\
/
\\ \\
\\ \\
\\ \\
/
\\ \\
\\ \\
7SS
-+ | _
=
JF .m., ]
=
” Drill holes.
o
+ 1= =
cC
<]
=
o
[ -
-+ 0 —
U
+ _
Y
/ , / / /
\\\\\\\\\\\\ \\\\ \\\\\\ \\\\\\\

%

Drill holes.

!

Drill holes.

*** Drawing no.2a **x*




Clear opening’'s height

130
30

115

130

30

115

M10x120

Clear opening's width

!

\\\\\\

A

Installation guides

— L
— e —— [

/

*** Drawing no.2b **x*




6L

3c

*x% DRAWING 2c ***
detail




*+% DRAWING 2d ***
detail




¥ M10x120 ¥ M10x120
g \ B g _
= ] =
i @ 4 S @ Y
28 | 2 i
_ < 2500 _|. 2500 L 2500 _
169 | . _ 1. 169
()
K m E 72
I - [ —
1 | [—HFA
B ﬁ L1 ﬁ T R =
P AN | | | L | | | | | Ul
T 1 , , , 1 , , , , N
= i 50 _|]|_400_|_400_|_400_|_400_]|_400 féovﬁ sof
il <2500 | 2500 L 2500
i i M10x72
.W i Clear opening width + 60 mm. i
@ i fit
— 1l [l
o i i
= 1 i
c i i
o i i
(m R 1 i
o i i
r i i
fo i i
= i i
- i i
.l i
B Clear opening width

A

i

Clear opening width

!

!

1A

Clear opening width + 60 mm.

A

!

Clear opening height

*** Drawing N0.3 ***




Console no. 1 - catching device side

Console no. 2 - drive unit side

*** Drawing 3a #**#*
Shaft's consoles




M10x120

W%

100

ISy

=idE
=
>ﬂ\ )

=B

Fasd A
= A
1 [ l
\ / \ L \

\V4w10x72

*** Drawing 3b #***




4 M10x120

100

7 M
N,

**% Drawing 3c *#*#*




!

A

sopinb Buioeds

00G¢>

005¢

!

yipim Buiuado Jea|)

!
A

0¢

59

150

*X view

cutting of the boffom seal

*** Drawing 3d **#*




M10x72

<2500 . - 200 - - 2500
_ o0 Sl T o0 S - o0 o0 -
<300 ﬂw®® | 300 || 300 7 =00 | 300 7 =00 7 =00 7 =00 7 =00 7 =00 1300 | 300 =300 7 =00 7 =00 7 S00 /300 =30
e = i i S s

e s E —

W |
: ! I )
I I
i i
1 i (I
[l [l
! !
i i
(| (|
Il Il
-+ i i
£ I I
=) | 1
(«F] | 1 1
- i i
= I I
= [ (|
[= | |
v 1 i i
(R i I
o I I
c : :
o | |
v b b
- 1 I I
: :
[l [l
| |
I I

Clear opening width N

A

30

'R

Clear opening width

Detail no. 3

Detail no. 2

Clear opening height

A

Clear opening width + 60 mm.

A

M10x72

**% Drawing no.4 **x*
Casing installation




M10x72

**% Drawing 4a *x*x*

Detail no. 2




N

N R | I

Guide rail.

I R

/ el & 4 \ w/
3 5%% e

Curtain's bottom profile . \ \w Slide.

/
s /

Gap between bottom profile and guide
rail should be 20-40mm.

**% Drawing 4b *x*x*
Detail no. 3




39

135
—ll]-
—

| N
O
O
LM
[@N
N
€
€
S
0 ~
o) N
.'g +
(7))
o o)
o RS
£ S
S | g
) =
o
©
Q
(7))
O
O
LM
[@N|
‘

135
I

30

AN
(@)
S
250

*** Drawing no.4c ***
cutting of the fop casing




7z

*** JRAWING 5 ***
Botton sftripes installation - profiles connection




